It takes long time to enter debug mode.(XDS560V2)
<Phenomenon>
Normal case : it can be enter debug mode under 30seconds. Please see CASE1.(it seems that it goes 3993 packet smoothly.)
NG case : it takes around 120seconds because there’s no response ACK from Emulator around 1min. after 3403 packet. It makes to wait for a while on PC(CCS). Please see CASE2

Packet Fragment phenomenon when LAN is connected.
A. [bookmark: _GoBack]CASE1 : it can be sent under 1,514byte fragment.
B. CASE2(NG) : it send xxKbyte fragment at one time.

CASE1. Normal case, it takes under 30sec to enter debug mode 
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Case2 : NG case. It takes around 120second to enter debug mode.
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Ethernet packet size.
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52870 bytes on wire (262060 bits), 30870 bytes captured (262060 bits) on 1n(erface g
Ethernet 11, Src: Dell 4c:56:55 (d0:67:e5:4c:56:55), DST: Cisco_02:74:40 (a
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Transmission Contral protocal, src Port: dns-11q (5352), DSt POrt: 55756 (55756), Seq: 65749, Ack: 109, Len: 32816
= pata (32816 byres)
Data: e814000001000201€814604000000010000800004000074 . .
[Length: 32816]
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3966 0.000020000 10.121.34.139 10.121.34.57 Tcp 1514 sais > 55755 [ACK] 520=803881 Ack=1605 win=65407 Len=1460
3967 0.000012000 10.121.34.139 10.121.34.57 Tcp 90 5ais > 55755 [PSH, ACK] Seq=805341 Ak=1605 Win=65407 Len=36
3968 0.001647000 10.121.34.57 10.121.34.139 Tcp 60 55755 > sais [ACK] Seg=1605 Ack=805341 win=8760 Len=0
3960 0.002060000 10.121.34.57 10.121.34.139 Tcp 70 55755 > sais [PSH, ACK] Seq=1605 Ack=805377 Win=8760 Len=16
3570 0.000035000 10.121.34.57 10.121.34.139 Tcp 150 55755 > sais [PsH, ACK] Seq=1621 Ack=805377 Win-8760 Len=96
3971 0.000030000 10.121.34.139 10.121.34.57 Tcp 54 sais > 55755 [ACK] Seq-805377 Ack=1717 Win=65205 Len=0
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.34, 10.121.34. 5ais > 55755

0.000011000 TcP 66
3995 0.001789000 10.121.34.57 10.121.34.139 Tcp 60 55755 » sais

3996 0.032157000 10.121.34.57 10.121.34.139 Tcp 60 55755 > sais 717 Ack=806865 Win=11680 Lej

4025 2.518935000 10.121.34.57 10.121.34.139 Tcp 70 55755 > sais 5e0=1717 Ack=806865 win-11680 Len-16
4026 0.000071000 10.121.34.57 10.121.34.139 Tce 110 55755 > sais [PsH, ACk] Seq=1733 Ack=806865 win=11680 Len=56
4027 0.000047000 10.171.34.135 10.121.34.57 TcP 54 sals > 55755 [ACK] Se-B06865 ACK=1780 Win=65223 Len=0

4028 0.000111000 10.121.34.139 10.121.34.57 Tcp 70 sais > 55755 [PSH, ACK] Seq-806865 ACk=1789 Win=65223 Len=16
4029 0.000018000 10.121.34.139 10.121.34.57 Tcp 178 safs > 55755 [PSH, ACK] 5eq-B068SL Ack=1780 win=65223 Len=124
4030 0.001577000 10.121.34.57 10.121.34.139 Tcp 60 55755 » sais

4031 0000045000 10.121.34.57 10.121.34.139 Tcp 60 55755 > sais

Frame 3003 1514 bytes on wire (17112 bits), 1514 Bytes captured (12112 bits) on interface 0
Ethernet IT, Src: Dell_53:76:67 (d0:67:5:53:76:67), DST: Spectrum_02:d5:e2 (0
Internet protocel version 4, src: 10.121.34.139 (10.121.34.139), Dst: 10.121.34.57 (10.121.34.57

Transmission Contral Protocol, src Port: sais (1426), Dst Port: 55755 (55755), Seq: 805393, Ack: 1717, Len: 1460
= pata (1460 byres)

Data: 200C50840200010102058506000000010000600100000000. . .

[Length: 1460]

[0000 00 O 09 07 d5 &2 d0 67 €5 33 76 67 08 00 45 00
loolo 05 dc 6b 72 40 00 80 06 2f 4 0a 70 22 8b 0a 79
0020 22 39 05 02 do ch 03 78 de 44 Sa e3 5b ef 50 10
looso ¥ OF 5F 84 00 G0 20 Oc 50 84 02 00 01 01 92 05
0020 9 06 00 00 00 01 00 06 60 01 90 00 00 06 00 00
0050 00 00 00 24 2d 0e 10 cI da Oe fc 23 2d e 98 05
0060 00 00 00 00 00 00 Od 7d ed a8 00 00 00 01 00 00
0070 00 03 00 00 00 01 01 00 00 00 00 00 00 01 00 00
o080 00 01 00 00 05 Sa 23 20 63 6f 62 66 €9 67 20 76| ..... Qv
0050 65 72 73 60 6f Ge 3d 33 2e 35 0a 24 20 75 73 63 | ersion=3 .5.3 Usc
0020 60 66 0a 20 20 65 63 6F od 5T 64 72 76 72 3d 73| if. eco m_drvr
loobo 64 35 36 30 76 32 65 20 6f 75 74 0a 20 20 65 63 | dSGOv2e. out, ec
looco 6F &d 5F 70 6F 72 74 3d 30 78 61 37 39 32 32 33| oOw_port= 0xa79223
loodo 30 02 20 20 74 63 6 &b 5f 70 72 6f 67 72 6l ad | 9. tclk
0020 3d 61 75 74 6f 6d 61 74 69 63 0a 20 20 74 €3 6¢C | =autcmat
loofo &b 5T 66 72 65 71 75 65 e 63 70 3d 65 78 63 68 | k_freque
6100 GL cz o7 ©5 03 20 20 74 o4 o 83 84 57 £ 3d %6 | apge. v
a1, gt

0110 61 6c 6c 0a 20 20 6a 74 61 67 62 6f 6f 74 Sf 6d
0170 6T 64 65 3d 64 69 73 61 62 6C 65 0a 20 20 6a 74 | od
0130 61 67 62 6f 6f 74 SF 76 61 6C 75 65 3d 68 60 7a | aghoot_v alue=hiz
0140 02 20 20 70 6F 77 65 72 62 6f 6f 74 Sf 6d 6F 64 | . power boot_mod
0150 65 3d 64 69 73 61 62 6C 65 0a 20 20 70 6F 77 65 | e=disabl ove
0160 72 62 6F 6f 74 ST 76 61 6C 75 65 3d 68 69 7a 0a | rhoot_va

0170 20 20 62 6F 6f 74 5F 70 65 e 6d 61 70 3d 54 52 boot_p
0180 44 30 32 5F 54 52 44 30 31 Oa 20 20 6a 74 1 67 | DO2_TRDO
0150 5T 60 73 6F 6c 61 74 65 3d 64 69 73 61 62 6c 65 | _isolate
0120 0z 24 20 2F 0a 24 20 64 6f 74 37 0a 20 20 64 74 | $ /.5 d ot7. dr
jo1bo 73 5F 75 73 61 67 65 3d Ge 6f 74 68 69 62 67 0a | s_usage= nothing.
01co 24 20 2F 0a 25 20 69 63 65 70 69 63 6b SF 63 0a | § /.% ic epick_C
0140 20 20 74 60 74 6c €5 2d 70 6F 75 74 €5 72 Oa 20 PRART L
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10.121.30. 55755 > xkotodrcp [ACK] 5e0=1605 Ac)

10.121.30. 55755 > xkotodrcp [PSH, ACK] Seq=1605 Ack=807100 W
3406 14: o . 10.121.30. 55755 > xkotodrcp [PSH, ACK] Seq=1621 Ack=807100 W
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- 33,
.121.34. 10.121.30.19 55755 > xkotodrcp [ACK] Seg=1717 Ack=808507 win=12240 Len

.121.34. 10.121.30.19 55755 > xkotodrcp [PSH, ACK] Seq=-1717 Ack=808597 win=12240 Len=16
51 10151 20 10 55755 « wborndren Toeu  ack]l San-1732 ack-R0R507 Win-13240 1 an-56

Frame 34031 1550 Bytes on wire (12400 bits), 1550 Bytes captured (12400 bits) on interface 0
Ethernet II, Src: Dell_4c:56:55 (d0:67:e5:4c:56:55), DST: Cis5Cn_02:74:40 (a4:0c:C3:02:74:40
Internet protocel version 4, src: 10.121.30.19 (10.121.30.19), Dst: 10.121.34.57 (10.121.34.57
Transmission Contral protocal, src Port: xkotodrcp (5344), DST Port: 55755 (55755), Seq: 805613, Ack: 1605, Len: 1496
pata (1496 byres)

Data: 200C508403000001€0148206000000010000600100000000.

[Length: 1496]

a4 0 0 40

o0 00 o1 00
1

00 55 44 00 00

00 00 00 01

o1

od





